ABRHS PHrsics (CF)

Final Outline - 2017

Format:  50-75 multiple choice (conceptual and work out problems)

Make your own Equation Sheet: One side of a piece of regular paper with anything on it. (equations, examples,

dizgrams) Hand written by you, no photocopies. (Just like the mid year.)

Momentum:
e  Momentum
e Impulse

¢ Impulse-momentum theorem
e (Conservation of momentum

o Recoil
o Inelastic
o Elastic
Energy:
e Work

e  Types of energy

e  Conservation of energy calculations
s  Examples of energy conservation

= Power

Circular Motion:
e  Frequency and Period - (Hz, rpm, s, min})
¢  Directions of acceleration and velocity when traveling in a-circle
e  Calculations with speed, period and radius
e Calculations with speed, acceleration and radius

Universal Gravitation:

Universal Gravitation

Acceleration due to gravity on other planets
Conceptual understanding of equations
Orbits

L]
L
2
L]

Ohms Law:

Current

Calculation of total charge (Coulombs <—> # ¢lectrons)
Voltage (electric potential)

Resistance

Electric Potential Energy (kW *hrs)

Electric Potential Energy vs. Electric Potential (Voltage)
Electric Power

Electric Bills

Ohm’s Law

Electric Circuits:

e  Ammeters & Voltmeters
Ohm’s Law
Series Circuifs
Parallel Circnits
Compound Circuits
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ABRHS eHYSICS (CP) NAME:
Final Review - Momentum

Equations and Constants!

Frp = ma p=my Ap = Ft Pi=Py Ap=m (vs — Vi) ,
B ) i £ ‘l "}W‘v -
hanae 10 Al 9’%..?&“
Concepts: : e = © ¥
~ 1. A 5kgbell has a momenturh of 50 kg m/s. What impulse is needed to stop the ball?
(«: a. —5 N-s. b. —10 N's. c. =50 N's, d. —250 N-s,
4 2. Which of the following could NOT be units for momentum?
3 2. N/s. b. kg'm/s. c. gom/s. d. Ns.
o w s

3. Which has more momentum, a 100 kg object with a speed of 5 /s or a 2 kg object with a speed of 250 m/s?
The 100 kg object has more momentum. f o aWEY - pp g

{ b. The 2 kg object has more momentum, 00 )(5) 500 (j !I’f

- ¢. They have the same momentum. A o B - T

d. Not enough imformation to tell. gl 15&2\) - 3

o

4.  Which of the following are true statements? P
1. Momentum is conserved when two objects explode apart, ¥

= II. Momentum is conserved when two objects collide and stick together. v’
- TTI. Momentum is conserved when two objects bounce off of each other. v
a. I only. b. II only. c¢. I only. d. I & Il only. e. LI &I

5. A rubber ball and a lump of putty have equal mass. They are thrown with the same speed against a wall. The
2 ball bounces back with nearly the same speed with which it was thrown. The putty sticks to the wall. Which
object experiences the greatest change in momentum?
a. theball b S Domed b. both experience ﬂle same momc?utum chlange‘
¢. the putty d. cannot be determined form the information given

6. Which of the following best describes an inelastic collision?

a cannon firing Ly shieks fmﬁ o the ¢
two billiard balls colliding

a baseball thrown through a window

o o

an arrow shot mto an apple i%{ﬁﬁ Jgtﬁ -
| 2 Tt
e 7. Which of the following will cause the greatest change in momentum? A force of___acting for
- a. 6N,3s b, 3N,65s ¢c. 5N,5s d 4N,5s
= 1§ N3 R L 5 28 M : 2o ME
8. A small object collides with a large object. Which object experiences a larger force?
a. the small object . %,fs}k Coam?
£ b. the large object N P,
c. they both experience the same force
d. it depends on if the collision is elastic or inelastic
9, A Mack truck and a Volkswagen traveling at the same speed have a head on collision. The vehicle which
fﬁi undergoes the greater change in velocity will be the
a. Volkswagen b. Mack fruck ¢. both the same
ws bl lgss mags ! '
10. A Mack truck and a Volkswagen traveling at the same speed have a head on collision. The impact force is
greatest on the

C a. Volkswagen b. Mack truck c. is the same for both {
' Bgaton's  Thicd Lae

side 1



ABRHS PHYSICS (CP) - NAME:
Final Review - Momentum

11. A bug and a car have a collision on the highway. As a result, the bug is smeared all over the headlight of the
car, which did not notice the collision. State whether each of the following statements is true or false, (All the
statements refer to magnitudes — don’t worry about directions.)

(I F The changes in momentum of the bug and car were the same.
T ¢ The final momentum of the bug is the same as the car.
Y F The impulses on the bug and car were the same during the collision,
T () The acceleration of the bug and car were the same. > Adifterent masfel |
T (9 The changesin velocity of the bug and car were the same,
I’ F  The forces on the bug and car were the same during the collision.
Problems:
1. DBeth (65 kg) is sitting on a lab cart (25 kg) at rest. If she jumps off with a speed of 2 m/s, what is the resultant
i 7
Vglo?‘%oft’ne lab cart? (5 ¢ (sie) = (o531 + f1e1 v
g HE

2. A2 kg cart moving at 2 m/s collides with a 3 kg cart at rest. Calculate the final velocity of the carts if the
collision is inelastic.

p- 29, (Y3) + ey = v o+ v .
i { SN n’.% - g W : WWWTM;}
nelashe =3 they shice %’Z{@@Wf‘?

rhey et The Same Speed !

3. During a class Egg Drop Competition, a 0.12 kg egg drop device hits the ground with a speed of 5 m/s and
comes to restin 0.1 s,
a. What is the change in momentum of the device?

A Ji\‘{?: ﬁ? p% - {g'zf}fzﬁ - (. ?L}f?}
Vi = 0 s T v\
k. What force acts on the deviee? B @ }

<I:Mﬁ%: - - Ok = {;{(}{)
*’5},} j“’iﬁsp { . w Ib N

side 2

fv= - 52 mfs [~ ble 1t 9065 Lackards

I

H



ABRHS PHysics (CP) NAME:

Final Exam
Energy Review

Chapter 8

Equations:

W = Fdcos(6) KE = ~my? W = AKE PE =mgh p=

|3

Constants:

g=(-) 10 m/s?

Concepts:

1.

5.
D ¢

6.
5
P 7.
L

8.
&

9.

Which of the following are units of power? :
a N b. ] c kg d W

All of the foliowing represent energy except
a W/t b. Fd c. mgh d 1/2 mv?

If you push an object twice as far while applying the same force you do
a. twice as much work .
b. four times as much work W= 4
¢. the same amount of work

A job is done slowly while an identical job is done quickly. Both jobs require the same amount of work,
but different amounts of

a. energy b. power c. both of these d. none of these
The law of conservation of energy means that 90 5]
a. energy cahnot be created or destroyed b. energy can change forms o
c. the total amount of energy cannot change d. all of the above - n 7B
T i gt L
Exert a force of 5 N for a distance of 4 meters in 2 seconds and you deliver a power of =~ 7 *&i’f«»ﬂ; "
a 25W b. 10W c. 20W d. 40W g
(o8
FExert 100 J in 50 seconds and your power output is i
a. 1/4wW b. 1/2W c ZW d 4w e. more than4 W

An object is raised above the ground gaining a certain amount of potential energy. If the same object is
raised twice as high, it gains
a. four times as much potential energy
b. twice as much potential energy
¢. the same amount of potential energy

P W\ﬂa}%

A 1000 kg car and a 2000 kg car are both lifted the same distance in a garage. Lifting up the more
massive car requires
a. lesswork b. thesamework c twiceasmuchwork d. fourtimes as much work
G ble 2K mass

10. An object that has kinetic energy must be

A

a. moving b. upin the air ¢ atrest d. attached to a spring

11. An object that has potential energy must have this energy because of its

0

a. speed b. momentum c. acceleration d. position
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ABRHS PHysics (CP) NaME:
Final Exam
Energy Review

12. Someone can lift containers aheight of 1 meter or roll them up a 2 meter long ramp (to the same height.)

With the ramp, the force needed is about Sounte wark
a. halfasmuch b. the same ¢. twice as much

13. When a car brakes to a sfop, its kinetic energy is changed to
a. stopping energy b, potential energy c. energy of motion d. energy ofrest e heat

14. Which requires more work: lifiing a 500 N sack to a height of 2 m or lifting a 250 N sack a height of 4 m?
a. lifting the 500 N sack b, lifting the 250 N sack c. they are the same

15. ATV is pushed 2 m by a force of 20 N. How much work is done on the TV?
a. 2] b. 10] c 20] d 40} e. 80}

16. It takes 40 ] to push a big box 4 m across the floor. How much force was needed?  {{) = 4
a. 4N b. 10N c. 40N d. 160N

17. A 2 kg mass is held 4 m above the ground. How much potential energy does it have? 7 (e bR fm{}
a 20] b. 407} c. 60] d. 80}
o iy
18. A 2 kg mass has 40 ] of potential energy. How far above the ground is it? 4O = z¢ o)
a Im b. 2m ¢ 3m d 4m

The picture below is for questions 19 to 22.
A roller coaster is lifted to the top of the first hill, point A, 100 m high, where it has a total of 15,600 ] of
energy. It then goes through a frictionless track. =

©oglweys K4 PET 15000

L

F) alf are egual

Y

19, Ifit has 10,000 ] of potential energy at point B, how much kinetic energy does it have at point B?
a. 5,000] b. 10,000] c. 15,000] d. 25,000]

20. Atwhich point would it have the most total energy?
a A b. B c. C , d D e. E f. all the same

21. Atwhich point would it have the least potential energy?
a A b. B c. C d D e E f. all the same

i3 i;,jg_. Lo west ;@aé\ﬂ}“ {oF Tl (;%g:?;’@jg,:}

22. AtpointE, if the coaster has a kinetic energy of 11,000 ], what is its potential energy?
a. 4,000} b. 11,000] ¢ 15,000] d. 26,0007



ABRHS PHysics (CP)
Final Exam
Energy Review

v
NAME: e i

Problems:
1. A 1.5kgballis dropped from the top of a 25 m tall building.

a. How much PE does it have at the top?
o= (1e5)Ci0) (L)

PE = m@j%

b. How fastisit moving when it hits the ground?

£ - / S0n
PE turns | Y SR I g Py Y 50 %
i » a4 e 22»“? E%E
5o g = LTIV Y Pols
7 sH+s =y Gl MW,}
2. You pull a 12 kg box 4 meters across the floor with a force of 100 N at an angle of 302 above the N N
horizontal. There is also a frictional force of -35 N. The box was initially at rest. _ o 177 rew
a. How much work did you do on the box? S )ﬂ“’-;“/ PR
A = Fdeosée 9@%‘{’5{ { s 10 )f( o [ 7.8° 2o
oo ﬁ)ﬁ%%j B R B .
b. How much work did friction do on the box? ~ i . .
o T : afer 4 e B8
Fd - (-35)(d) = (W2 10T [ wowese” b el
parelle] B Lispance
¢, What was the total work done on the box?
! TUL LS & 7 _i
Ardd Hagim vp - ge-1HE - %%mm‘“a
d.  How much kinetic energy did the hox gain?
r T06 5
e. Whatis the final speed of the box? T
y{m o i C , ‘2;; QJ i V “ %K‘f"iw ........ S —— ._.h“;
" i o ‘\j oY P ; - o N
R zm 206 7 Y f}f{%d,& wbg |
)
3. Some students did a lab with a 0.65 kg ball. They tossed it up and down over a motion detector and
recorded the initial height and velocity of the ball as shown in the table, Fill in the rest of the table.
{mass = 0,65 Height Velocity PE KE TE
kg} (m)’ (m/s) ) ) 9 0
(8NIONAS) L Les (T
iti ta 0.15 2.70 - b e e - ’”‘ L
Initial Da Rt EER r
vam| s e | o | 239 | o | 2.3f |
He}g/ht B B ’ ; éj& H
- _ o m}i,
P TEES \L 4 fard
Ran&(om ” % 2 b
Pdsition 0,419 13 ” L3 0.544 2.7 f
: ‘ [ pEzman  Krimw® o K PE
e ) h S ‘
2,34 (o)) L
h= ool 3,34~ 0.544
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ABRHS PHYSICS (CP) NAME: K
Final Review - Circular Motion

Equations and Constans:

mv* v 27xr [
F= a,= b= f=t
r r T T
Concepts:
1. Ifthe frequency of a rotating objsct increases, the period of rotation
. a.  Increases
| b. Decreases
¢. May increase or decrease
d. Rernains the same
~ 2. A bicycle whee] turns at a rate of 60 rpm. This is equal to o
(o a. 60Hz b. 0.02Hz c. [Hz d 6Hz

. You are friving home from school and you notice that when you fake a sharp right turn your body leans o the
N, left. Thig is capsed by e

a.  Ceptripefalfforce’ ‘ C
b. C t:ﬁ/ﬂza fore §gﬁ{7 ”E"

servatlon of momentum

Questions 4 to 7 refer to the following:
A small ball is tied to the end of a sfring and swumg in a horizontal circle.

4, The direction of the force on the ball is
a. Toward the center.
ﬁt b. Tangent to the path.
d c. Away from the cenfer.

5.  The direction of the acceleration of the ball is
a. Toward the center.
f?k b. Tangent o the path.
¢. Away from the center.

6. If the string suddenly snapped, the ball would fly off
a. Toward the center.
{E} b. Tangent to the path.
¢. Away from the center.
d. And continue and a circular path.

7. The small balt on a string is now swung i a vertical circle. Where along the path is the string most likely to
break? . . .
a. Atthetopofthepath. o bic tension 135 9 restest hoag
g b. At the bottom of the path.
¢.  Somewhere in the middle, but definitely not at the top or the bottom of the path.
d. The bal is equally likely to break at any point along the path.

8. Ifyou double the radius of the circular path, and keep the speed the same, the centripetal force
a. Decreases by a factor of two, o
A b. Decreases by a factor of four. ;: = Y
o ¢. Increases by a factor of two. “ =
d. Increases by a factor of four.

Side 1



ABRHS PHysICS (CF) NAME:
Final Review - Circular Motion

Problems:

1. A little boy is on a Merry-go-Round that is rotating with a constant rate of 10 rpm. He is sitting 5 mefers from
the center of the ride.
a. How many seconds does it take to rotate once?

Fo d0rpm el d Tz . e —= Then £ (60) { Tz & seconds |

H

[=F * % e

b. What is his linear speed? JE
- y

yo e . 2m(s) {“‘aﬁ: 5 24 m
T B b |

¢. What is the magnitude and direction of his acceleration? . -
A= % (= (5.24] 548 ™ . foocenter
r L_\_w_ ,,,,,, - J ]

d. Ifhe were to sit 3 meters from the center, what would be his lingar speed?——

0 . 23 . : Py AR
y - 20 Vs C R VR T itier &8
"'j""’ {Q . i:’,/ 1%
e. Ifhe were to sit 3 meters ﬁom the center, what would be hls ﬁequency‘? ;
MMMMMMMMMMMM {i o7 iF oY bire jc - = - mé;
Lo f 5T ii Q 7 ﬂm ] 7 ,"m‘mmww“rf et
\\\\\\\ | Fo 0067 Hy \
f  Ifhe were to sit 3 meters from the center, what would be his acceleration? —
L
z (3.4) { |
a- % - YV fas s2a e |
3 3 e
2. A 1500 kg car is driving in a circle with a radius of 20 meters wn:h a constant speed of 5 m/s. %
a. What is the period of this motion? N P
T {20 . - i .
Y - 2007 5= 2TL®) Tro s sel Fc
?.,m —gm R g ’.‘;@?._5
b. What is the frequency of this motion? % b
! E
Feko FeL [F= 00% Hy
- st . - }{ e ! ¢
’ s 251 -l 7
c. What is the cenfripetal force on the car? 5
e 2 - PEAYS - M?
Fomomy F oo (1506)8) [Fo= 183 N |
i .0 - _—

d.  Where does the centripetal force come from?

§

. . «
Prction  lgefwegn MTs 2 rveg

e. Ifthe car were to have the same mass, but twice the velocity, how much centripetal force would it

experience? . \} 5
i I iSooy{ i P
L 1
¢ (o] N )
ﬁ%i Censld &ﬁ;; |
[ et )
2 .
{ E}M_} o L«i W},ﬁf
S - p ) %gwﬂ
,ﬂ %(zg% ) =

Side 2



ABRHS Puysics (CP) NAME:
‘ Final Review - Gravity

Eguations and Constanis:

Gmym, GM e
F,= — g=—>29" G=6.67x 10" Nm*/kg’
]plane!
Mearn= 6 X 107 kg fearp= 6.4 X 10°m
Concepts:

1. The earth exerts a gravitational force of 7000 N on a satellite. What force does the satellite exert on the

earth? f
a 700N b
7 b, 7000 N Nob
% c. more than 7000 N
d

The answer cannot be calculated with the given tuformation.

2.  According to the Law of Universal Gravitation, the force i as the mass increases and the force i as
the distance increases.
a. Increases, increases
b. Decreases, increases
" ¢. Increases, decreases
d. Decreases, decreases

P
1

3. Why don’t two people feel the gravitational force between them?
a. The action reaction forces cancel] each other out,
e b. They do feel the force.
¢. The force too small to be noticeable.
d. Gravity is only a property of planets and moons, not people.

4.  Which of the following statements is true?
a.  Your mass depends on where you are in the universe but your weight is constant. X

b.  Both your mass and your weight depend on where you are in the universe. é
D c.  Both your mass and your weight are constant everywhere in the universe.
d.  Your weight depends on where you are in the universe and your mass is constant, ﬁ%
Peret
| < LA
& . b2 g
Problems: gw@%’é“mm% fu\} @j%%% e % v
5. A small satellite has a mass of 500 kg on the surface of the earth. The satellite is then put in orbit around
the earth. . . _ L zpuld alde do
a. ‘What is the weight of the satellite on the surface of the. 7?7 - N e Ty
H= = f’w@{m‘% “““ WZ[(;{}{T} Al mo- {4 @ifwa}‘}aéxm
oA LA = ($oe I RN TS g - s s
3 A 3 (b4 108 )

b. What is the mass of the satellite in its orbit?

e

['so0 kq SRTYERVER S

c. Tsthe weight oTthe satélfite in its orbit more than, less than or the same as the weight of the
satellite on the surface of the earth? , A _
welght S tess ble s farthor P The entte
ot the eartia




ABRHS Prysics (CP) NAME:
Final Review - Gravity

6. The gravitational force between two spheres in outer space is 1000 N.

a. How large would the force be if one sphere & mass?
{23 04y = [ 2000

b. How large would the force be if both spheres had twice the mass?

‘fﬂf; R T ﬁg{m N 1
c. How large would the force be if the spheres were halﬁﬁe distance apart?
X0 R e r—r“wﬁ
o = Jg 2 x = [ooed
d. How large would the force be if you doubled both masses ses and thema"igwtance between the masses?
A TS RO R -
E::%:L L] K ”QOJC; I j
7. Calculate the force of attraction between a 300 kg mass and 500 kg mass that are 20 cm apart.
F o= G (booy(soo) ty =,2 M
o e o
(.2} I — -
T ) ~ e
(7, = 25 A0 0 r oo )
i _; P e i

e

o0 & (10%e) @“ﬁﬂj}

42 S

- O
4%- o012 fd= 0.047F m |
9. TImagine an astronaut of mass 75 kg is on the planet Venus. What is the acceleration due to gravity on
Venus? (Myens=4.9% 10°kg  Ryenu=6x10°m Dvenusesnn = 1.1 % 10" m)
M
3° p*

Side 2



ABRHS PHYSICS (CP) - NAME: KEY
Final Exam

Ohm's Law Review

Chapters 32, 33
PE PE
Equations: V="o I= g V=IR P=IV P=— QO =ne
0 t t
Constants: e=16x10"C 1 kW = 1000 W
Concepts:
oL Energy per charge is cafled
o a. current, b. electric potential energy. ¢. voltage. d. resistance.
o2 A battery does 18] of work on 3 C of charge. What isits voltage? p oz LY
N a. 48V. b. 18V. c. 9V. d. 6V. e. 3V. NPy
0= i {f?‘.ﬁ«}‘
A 3. An ordinary light bulb is marked “60 W” and “120 V.” What is its resistance? e 0,5
' a. 240Q. b. 180 Q. e 1200 d. 60 Q. e.15Q. 7 S
we =ik
4, Current is a measure of: Cqpo= L LS
a. force that moves a charge past a point.
% b. amount of charge that moves past a point per unit time.
' c. speed with which a charge moves past a point.
d. resistance to the movement of a charge past a point.
¢. energy used to move a charge past a point. - BB S fg
-7 e
% 5. If 90 C of charge move through a light bulb in one minute, what is its current?
' a. 90 A. b. 1.3 A c. 60 A, d. 2/3 A. e. DA,
6. Which of the following would have the least resistance, assuming they are all made of the same
N material?
Lﬂ a. along, skinny wire. b. along, fat wire.
c. a short, skinny wire. d. a short, fat wire,
7. Imagine you did a lab investigating how the current through ar, s1st()r depends on the voltage

of the resistor. Which of the following graphs would best represe”“?your ta?

v V| mﬁmf”
,. N e u (+ o
fféwﬁﬁm)

] I
a. b. c. d. €.

8. Imagine you did a lab investigating how the current through a light bulb depends on the
voltage of the light bulb. Which of the following graphs would best represent your data?

é-::_f vV V] T ! i ‘ T {« é\ éf La/[f'f{v‘w%

a. b. c. d. e.
9. Most batteries are marked "1.5 V." This means bes
There is 1.5 V of energy in the battery. pemapy Enenny
{) Every electron that leaves the battery gets 1.5 ] of energy. Vol éﬁ%@ T .
There is 1.5 ] of energy in the battery. ' eI

Each Coulomb of charge that leaves the batfery is given 1.5 | of energy.
None of those are correct.

T D TR

Side 1



ABRHS Pryvsics (CP)

NAME:

Final Exam
Ohm's Law Review

Problems:

1.

Z.
3.
o
0 ;; }éﬁ 4.
a
Qﬁ.g;
4
il
S

For each of the terms listed, give the variable (the letter in the equations) and the units (what the
thing is measured in.)

Term Variable Uit ‘ Term Variable Uit
Power . ? W Voltage 1 YV
Resistance K 1 Charge & C
Current T A Energy P T o7 1
W b o
How many electrons pass through a resistor in 1 hour if the there is a current of 0.5 A passing
through thebulb? 40y - 6080 = 24np 9
g {l;e\f - m - i@@z"} - i ’52“:' ne e
L= 7 5= (%mrw:mum ) F1b ;{;;;.3&"}
£ 300 1gc0 ~ N -
o T
A 75 W light bulb is connected to a 120 V outlet. U — e J
a. What is the current in the light bulb? N
Y gg’:,}j{i’wj I= {9 z;?:fﬁJ
b.  What is the resistance of the light bulb? el Pt
-1 - £ oee70 ) R IR~ {92
y=1LR 120 = L®pih LT

c¢. Why does the light bulb light up?

The Alament gets 5o hot (afw thoesianid &ffgﬁf«%ﬁ et i glows -

(45 white hot”
300 C of charge pass through a resistor in 2 minutes. =2 = 135 germd 3
a. What is the current passing through the resistor?
- & | L i
L= % L=rg (L7 28A)
b. What is the voltage across the resistor? - 1
. - el vIooI5 Y
v= LR v (25)(k} V= oV
c. How much power is being dissipated in the resistor?
) Wl
porv pEus)s) P3R5 W]

i

Side 2
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ABRHS PHysics (CP) . NAME:
Final Exam
Circuits Review

Chapters 34, 35
Equations:

I= R, . =R +R,+R,+..

series

~
1
=
]
i
=

R

parallel

Concepts:
5

1. When building a simple circuit, the ammeter s placed in and the voltmeter is placed
in___§¥
a. series, series b. series, parallel

c. parallel, paratlel d. parallel, series

. -
o, P

Pt . .
2. In a simple circuit, potential energy is L at the resistors and takes the form of

a. lost, heat b. created, heat
c. lost, potential energy d. created, potential energy

3. Two resistors connected in series must have the same
a. current, b. voltage. c. resistance. d. power. e. energy.

4. Two resistors connected in parallef must have the same
a. current. b. voltage. c. resistance. d. power. e. energy. .
el %’f"“@"/

5, Three wires come together and the currents in two of them are shown to x “ A
the right. Which of the following could be the current in the third wire? af
a. 6 A, b. BA. c. 12A d. ZA. e. JA g B

i

Ra

W

1] !
1 T

lwo?
e

Viotal
6. In the circuit above, which of the following statements about voltages must be true?
- L Vi+Va=Viu
Lo Vp+Ve=Vea
1. VI+V2+Vy=Vim x

a. Lonly. b. I only. c. 1 & Ifonly. d. allof them.  e. none of them.

7. Ine the circuit above, the total current coming out of the power supply must be equal to
a. the current in R, b. the current in R,.
c. the currentin Rs. d. the sum of the currents m Ry, R, and R;.

8. Connecting resistors in series always 7
parallel always ¢ thetotal resistance.
a. increases, increases b. decreases, decreases
c. decreases, increases d. increases, decreases

the total resistance while connecting resistors in

Side 1




ABRHS PHysics (CP) NAME;

Final Exam
Circuits Review

Problems:

1. A simple circuit contains a single 20 € resistor. The circuit voltage is set to 40 V.
a. Sketch the circuit and include the placement of the ammeter and volimeter
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b. Calculate the current in the circuit.
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What is the power generated by this circuit?

D= TV P - (2y(4e) = @!? &0 J

o S5

e. How much electrical energy is “lost” in 5 minutes?
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f.  What form does this “lost” energy take?

ﬁxﬁﬁm Crersy £ vk geis ifw“fo}

2. Imagme you have three identical 6 Q resistors. There are only 4 ways they could be connected.
Draw them and determine the total resistance of each.
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